142X21T0mm LOGOO O 2019-9-18

| . SPECIFICATIONS. Il. Assembly Instructions
. @ V. Function and Operation
Suitable Ages 3-6 Years <Step 1> : ]
' Product Dimensions 108X49X75cm ]
Maximum Weight 30 kgs 1. Dash board
Speed 2-3km/h
Motor 30W 1.Music button 1.Music button
|tem N 0 " 946 Charger Input: AC 220V/110V 1.Place the side wheel over i i
: o i 3.Multi-media palyer
Output:DC6V/500mA DCL2V/700mA the location n the bottor of Max14 sarews both left and ver he location mthe

body,tighten by two M4X24

VeS pa 946 E ' eCtrl C R | d e- O n Battery 6V4.5AH screws with a screwdriver fight side of the body. four ,?,{:;?fi”stggﬁg_by 4.Forward/Backward : 2.Power ON/OFF

(not included) i
Operating Ambient Temperature 0-40C switch

Installation & operation Manual

Il . Components List

1.Body 1 pc 2.Seat 1pc 3.Handle bar 1pc 4. Front wheel 1pc

o PO 4.Insert the front wheel stick 5.Insert the front wheel stick 6.Connect the wire plug of the :
. Wsﬁ through the front fender. into the hole of the body,make handle bar into the wire plug of @ ——
Ipsum sure the right position. the body,then insert the whole -
p plug into the hole of the body. ARG S ’:;ﬂj oM /V+ }V%L @
(DUsB Interface
_ <Step 7> <Step 8> NER <Step 9> S
5.Side wheel 1pc 6. Rear-view 7.Front fender 1pc 8.Rear fender 1pc @short press: Previous Track Long PressVolume Decrse

©play /Pause
(&)Short Press:Next Track /Long Press:Volume Increase
(@Mode:Change mode of USD, TF CARD,AUX,and other functions

(@ Dpisplay

mirror 2pcs

“n = o D

- { T — VI. Battery and Charger Operating Guide
) ) 7.Place the handle bar over 8.When the battery is 9.Place the seat into the 1. The charging socket is located at the left side of the motorcycle.
9.Windshield 1pc 10.M3X10 Screw 11.M4X14 Screw 12.M4X24 Screw the front wheel stick,insert installed,insert th;yred cable location of the body,then 2. The battery and charger which are provided or recommended can be used only.
4pcs 9pcs 2pcs the M5X30 bolt into the hole terminal into the battery tighten by one M4X14 screw. 3. Please do not play with the charger and battery because they are not toys.
and tighten by the nut. positive pole. 4. The battery charging operation is carried out only by adults but not children.

5. The battery shall be fully charged before first use; the battery

S — —— charging time shall be 9-10 hours and can not exceed 15 hours.
/—\ 6. The lukewarm phenomenon of the charger and battery will occur

during charging.

13.M5X30 Bolt 1pc 14.Nut 1pc 15.Charger 1pc 16.MP3 connecting
wire 1pc

/\ CAUTION: /\ WARNING e
.
.This package contains small parts which are for adult assembly only. M ’

10.Insert the rear-view mirror 11.Place the windshild into
.Remove all plastic bags & tires before giving this toy to a child. ADU LT ASSEM BLEY / into the hoIe_ of the hand!e the right position_ of the
.Protective equipment should be worn,not to be used in traffic. bar,be certain the rear-view handlebar,then tighten by
.Keep this instructions for future reference. REQU EST mirrors are completely fixed. four M3X10 screws.

Vespa® is a registered trademark owned by Piaggio & C.S.p.A.
And used under license by Ningbo Prince Toys Co.,Ltd.

3. WARNING:

VII. Simple Fault Removal Guidance

A\ WARNING

1) Check the power switch, all plugs of the control plate under the seat, and the battery 2 . & i s 2 .
terminal line are properly inserted. To reduce the risk of injury, adult supervision is required.
2) Check the over current protector, when the car is over loaded or blocked, the over 1t i i i
1. The ride-on not be current protector automatically disconnects the circuit to protect the motor and controlling Str_lctly_forblddfn USdInghon tqﬁ roa_dwayts, near motor VEhIC|eS, Slopes,
driven. IC board. swimming pools and where there IS water;
3)g:§ﬁ$ewhether the car has been stored for a long time and its battery is not charged P|ease wear shoes; thIS toy car can onIy be used simultaneously by one
: p erson.
2. Music sound is : p ) .
distorted or silent Cueskwheher he'Baltery bartenondlipowen/eihentise cene Ml Keep away from kids before assembled by adult, as there are potentially

sharp edges, points, or small parts.

/\ WARNING

Do not mix alkaline battery, standard (carbon-zinc) battery or rechargeable

. . (nickel-cadmium) battery.
1) If the product is not used for a long time, please fully charge the battery and then turn off

the power switch for storing the car. The battery shall be recharged once every other month, A WARN I N G

otherwise the battery service life will be shortened or the battery cannot be charged again.

2) Pay attention to the positive and negative poles of the battery during installation (the Protective equipment should be worn.Not to be used in traffic.
reverse connection or short circuit of the positive and negative poles of the battery is not
allowed to occur).

VIil. WARNING
1. Battery warning:

WARRANTY REGISTRATIO

/\ WARNING

This product is unsuitable for children under 3 years due to its maximum
speed.

6 months
warranty

2. Product warning:
1) There may be potential sharp edges, sharp points or small parts before the assembly of this

product, and therefore this product shall be assembled by the adult.
2) To avoid suffocation, keep the plastic bag away from children. Dispose of all bags IX. Care and Maintenance

immediately. 1) Regularly wipe and clean it with a piece of cloth.
3) The children shall correctly use the car under the adult guidance and supervision,otherwise 2) The rotating parts of the car should be checked regularly to determine whether any foreign

they may make themselves or the others injured. matter obstructs the rotation and to keep lubricating state of normal operation.

4) The car is suitable for being driven on the flat ground and strictly prohibited to be driven in
such dangerous places as street, road, sleep slope and beside swimming pool,otherwise
the traffic and drowning accidents may occur.

5) Please put on shoes and protection equipment before use, putting on the helmet, safety '
gloves, knee pads, etc. :met, gloves, knee pads, etc.

6) Small parts possibly fall off when this product is used improperly. So, it is unsuitable for
children under 36 months old.

7) Regularly check whether the battery, charger, wire, plug, casing and other parts are
damaged; if the damage occurs, please cease to use this product until it has been repaired. Koopers Distribution Sdn Bhd

8) This product is only allowed to be used by a child; the maximum load is 30kg, and therefore () 03-78324338
the overload is not allowed. € www.koopers.co

Ei www.facebook.com/koopersmalaysia

D< sales@koopers.co

8 18-1, Jalan Bulan U5/BM, Section U5, Bandar Pinggiran Subang
40150 Shah Alam, Selangor
5 6 Malaysia

9) Keep away from fire.

10) The product instructions shall be kept as they contain important information.




